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P Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully. <
Questions ONE to FIVE: Choose one answer for each of the parts 1 to 4.
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Questions SIX and SEVEN: Choose two answers for each question. - -
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QUESTION SEVEN
the potential difference (voltage) across the 4 ohm resistor is 0.8 V

the potential difference (voltage) across the 6 ohm resistor is 2.4 V
the potential difference (voltage) across the battery is 2 V

the total current in the circuitis 0.2 A

the total resistance is 10 ohms

Questions EIGHT to TEN: Choose one answer for each of the parts 1 to 4,
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Quesimns ONE and TWO: Choose one answer for each of tha parts 1to 4.
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Questmns THREE and FOUR: Choose two answers for each question.
QUESTION THREE
the potential difference (voltage) across the 4 ohm resistor is 0.8 V

the potential difference (voltage) across the 6 ohm resistor is 2.4 V
the potential difference (voltage) across the battery is 2V

the total current in the circuitis 0.2 A =
| the total resistance is 10 ohms

[ QUESTION FOUR [Tl ™
V1 has areading of 1V
V2 has a reading of 6 V
V3 has areading of 4 V
V4 has a reading of 6 V 0|
V5 has a reading of 3 V )
Questions FIVE o TEN: Choose one answer for each of the parts 1 to 4. - »
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